MIAMI-DADE COUNTY
PRODUCT CONTROL SECTION
11805 SW 26 Street, Room 208

DEPARTMENT OF REGULATORY AND ECONOMIC RESOURCES (RER) Miami, Florida 33175-2474
BOARD AND CODE ADMINISTRATION DIVISION T (786)315-2590 F (786)315-259%
NOTICE OF ACCEPTANCE (NO A) www.miamidade.gov/economy
Amarr Garage Doors

125 Carriage Court

Winston-Salem, NC 27105

ScopE:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials, The
documentation: submitted has been reviewed and accepted by Miami-Dade County RER-Product Control Section to be
used in Miami Dade County and other areas where allowed by the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control Section (In
Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to have this product or
maierial tested for quality assurance purposes. If this product or material fails to perform in the accepted manner, the
manufacturer will incur the expense of such testing and the AHJ may immediately revoke, modify, or suspend the use of
such product or material within their jurisdiction. RER reserves the right to revoke this acceptance, if it is determined
by Miami-Dade County Product Control Section that this product or material fails to meet the requirements of the
applicable building code.

This product is approved as described herein, and has been designed to comply with the Florida Building Code,
including the High Velocity Hurricane Zone.

DESCRIPTION: Maodels 2400 (I/S) & 2000 (I/8) Steel Sectional Garage Doors up to 9'-2" Wide (DP
+50.0, -62.0 PSF)

APPROVAL DOCUMENT: Drawing No. IRC-2409-177-21-1, titled “Commercial Models 2400 (1I/S) (24
GA), 2000 (I/S) (20 GA), Flush and Ribbed Panels”, Sheets 1 through 3 of 3, dated 07/29/2008, with revision
A dated 11/29/2011, prepared by Amarr Garage Doors, signed and sealed by Thomas .. Shelmerdine, P.E.,
bearing the Miami-Dade County Product Contro! renewal stamp with the Notice of Acceptance number and
expiration date by the Miami-Dade County Product Control Section.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LABELING: A permanent label with the manufacturer’s name or logo, 3800 Greenway Circle, Lawrence,
Kansas, model number, the positive and negative design pressure rating, indicate impact rated if applicable,
installation instruction drawing reference number, approval number (NOA), the applicable test standards, and
the statement reading ‘Miami-Dade County Product Control Approved’ is to be located on the door’s side
track, bottom angle, or inner surface of a panel.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no change in
the applicable building code negatively affecting the performance of this product,

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any product, for
sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply with any section of
this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by the
expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall be done
in its entirety.

INSPECTI?)N: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors and shall
be available for inspection at the job site at the request of the Building Official.

This NOA renews NOA # 12-0228.10 and consists of this page 1 and evidence page E-1, as well as approval
document mentioned above.

The submitted documentation was reviewed by Carlos M. Utrera, P.E.

NOA No. 13-0813.20

Expiration Date: November 20, 2018
Approval Date: October 10,2013
Page 1

MIAMI DADE COUNTY




Amarr Garage Doors

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

DRAWINGS “Submitted under NOA # 12-0228.10”

1. Drawing No. IRC-2409-177-21-L, titled “Commercial Models 2400 (I/S) (24 GA),
2000 (I/S) (20 GA), Flush and Ribbed Panels”, Sheets 1 through 3 of 3, dated
07/29/2008, with revision A dated 11/29/2011, prepared by Amarr Garage Doors,
signed and sealed by Thomas L. Shelmerdine, P.E.

TESTS “Submitted under NOA # 12-0228.10”

1. Test report on Evaluation of Painted or Coated Specimens Subjected to Corrosive
Environments per ASTM D1654 & ASTM B117, prepared by Architectural Testing,
Inc., Test Report # A7420.01-106-18, dated 04/12/2011, signed and sealed by Joseph
A. Reed, P.E.

“Submitted under NOA # 08-1003.08”
2. Test reports on 1) Uniform Static Air Pressure Test, Loading per FBC TAS 202-94
: 2) Large Missile Impact Test per FBC, TAS 201-94
3) Cyclic Wind Pressure Loading per FBC, TAS 203-94
4) Forced Entry Test, per FBC 2411 3.2.1, TAS 202-94
5) Tensile Test, per ASTM E8
along with marked-up drawings and installation diagram of Amarr 9°-2”x 8’ 24 ga
steel garage door Model 2400, prepared by American Test Lab, Inc, Test Report No.
ATLNC (721.01-08, dated 08/06/2008, signed and sealed by David W. Johnson, P.E,

CALCULATIONS “Submitted under NOA # 12-0228.10”
1. Anchor calculations prepared by Structural Solutions, P.A., dated 02/09/2012, signed
and sealed by Thomas T.. Shelmerdine, P.E.

QUALITY ASSURANCE
1. Miami-Dade Department of Regulatory and Economic Resources (RER)

MATERIAL CERTIFICATIONS “Submiffed under NOA # 12-0228.02”

1. Test report on Surface Burning Characteristics on the expanded polystyrene UL file #
R11812. '

STATEMENTS “Submitted under NOA # 12-0228.10”

1. Statement letter of code conformance to 2010 FBC and no financial interest issued by
Structural Solutions, PA., dated 04/18/2012, signed and sealed by Tomas 1.
Shelmerdine, P.E.

0.,_,/3@%5
4

Carlos M. Uirera, P.E.

Product Control Examiner

NOA No, 13-0813.20

Expiration Date: November 20, 2018
Approval Date: October 10, 2013



13 GA. {HIN> GALV.
COMMERCIAL TOP ROLLER
BRACKET ATTACHED W/(4)
174" % 3/4* HEX HEAD
SCREWS PER BRACKET

TYPICAL TOP FIXTURE

2’ 10 BALL STEEL ROLLER
W/5' STEH {MIN
W/ BOLT RETAINER USED FOR

NON THREADED SHAFT 2 5/6° X 22 GA  (3.5° R-TRUSS)

GALY, STEEL R-TRUSS ATTACHED
W/ (2) 174 o 3/4* HEX HEAD

3 9700 X8R GA, 330 R-TRUSS SCREWS AT EACH CENTER STILE

GALY. STEEL R-YRUSS ATTACHED
W/ (4> 1747 % 3/4° HEX HEAD

SCREVS AT EACH END STILE DN
TO0P SECTION *

14GA, {MIN)Y CENTER HINGE AYTACHED

W/ & TOTAL DF (53 1/4' x 3/4°

HEX HEAD SCREWS

(2> SCREWS IM THE TOP LEAF

(2> SCREWS IN THE BOTTOM LEAF

1> SCREW IN THE BOTTOM LEAF
THRU R-TRUSS

O,

TYPICAL CENTER HINGE@

24 GA (022’ MIN? OR R0 GA
W/BAKED BN POLYESTER FINISH

-OPTIONAL POLYSTYRENE
INSULATION WITH HATRCELL OR
STEEL BACKER (I AND § HODELS)

N, 1.5 N.T.S.
Y.\
P
A
247 Max 509 SE s :
SECTION HEIGHT ‘3 ‘ ‘ . .

N 1 B, = b, !

i [ 3

/'-E' THICK

O

- ATTACHED WITH ¢4) 1/4°

HEX HEAD UNIV. SCREMWS PER BRACKET,
AU;.UST&BLE SLIDE BRACKET IS ASSEHBLED

WITH (2) 5/16° x 3/4' BOLT & NUT PER BRACKET,

3 5/8" X 82 GA. (33" R-TRUSS)
GALV, STEEL R-YRUSS ATTACHED
W/ (4> 1/4° x 3/4' HEX HEAD
SCREWS AT EACH END STILE AND
() 1/4* % 3/4* HEX HEAD
SCREWS AT EACH CENTER STILE

ON TOP SECTIDN

14 GA, (MIH> GALV. STEEL
ROLLER HINGE ATTACHED
WITH (6) 1747 47

HEX HEAD UNIV. SCREWS

3 5/8* X 22 GA, (35" R-TRUSS)
GALY. STEEL R—TRUSS ATI’ACHED
W/ (3} 1/4* x 3/4'

SCREWS AT EACH EHD STILE RND
(&) 1747 » 3/4* HEX HEAD
SCREWS AT EACH CENIER STILE

OGN BTH AND INT SECTIONS

¢4y ' X 20GA STRUT OM

BOTTOM PANEL ATTACHED W/ (2
174* x 3/4* HEX HEAD SCREWS
AT EACH END STILE AHB 2>

W '@

* [}
(i) )
Jl
"
"I
SEE TABLE 2 ON PAGE 3
FOR CENTER STILE
{OCATION DETAILS

JAMB SEAL

DPTfDNAl.]]

18 OA. GALY, STEEL END STILE
ATTACHED WITH (73 CLINCEED
JOINTS TO DOORS SXIN AND (2)

9-2° (MAX>

INSIDE ELEVATION
H.T.5.

{3 I8 GA, CENTER STILES
ATTACHED WITH ¢8> CLINCHED
JOINTS DR RIVETS AT THE
TOP AND BOTTOM RAIL AND
(2y TO INTERIOR FACE AT
HAJOR RIBS

AT THE TOP AND BOTTOM RAIL

) 1/74-20 x 5/B'TRACK
SPLICE BOLT AND HUT PER
JAKB BRACKETY

* GALY, STEEL TRACK
Shigirss Toas Zmn.)

5/8°H X B2 GAS

3
HINGES 14GA {MIN.) a5 R-TRUSS)

Ti T

H.T.S

; SLIDE LUCK ENGAGES 3 1/4" x 374" HEX HEAD SCREWSRODUCT RENEWED
. VERTICAL TRACK BN £ACH S1DE - AT EACH CENTER STILE s complying with the Florida  PRODUCT REVISED
CSHAP LATCH, OR LACK BAR GPTIONAL) - 13 6 v, siees,  Buikdmg Code zc 5 l:;xﬁyﬁie the Florida
: - BOTTOM BRAGKET -QSB12. dmacoﬁﬂ
HEX HEAD SCREWS RTTACHED N7 23 1747 x 374+ xoccpiamoe No 4
i HEX HEAD UNIV, SGREWS p : g,q,,m (3
ONT, ALUM, EXTRUSION
e VITH CONT, VINYL ASTRAGAL By = By
i Mix Prodixct Control
g SECTION A~A (SIDE VIEW) M Controk -
n?) 14 A, G REY | DESCRETION (F REVSONS DAE |8
S— N ROLLER A | WONTED T0 FES 2010 /21l R
20 10 BALL STEEL ROLLER e oy Sncs X
V/5° STEM (HIN) (3} SCREWS UPPER LEAF ‘.%
W/ BOLT RETAINER USED (3) SCREWS LOWER LEAF . LT
FOR NON THREADED SHAFT HEIGHT 24t W e ! ¥,
x 16 Gh ENDCAP ATTACHED ‘Q, .,---a..Wé‘ ’,
WITH FASTENERS USED FOR ,g. X9 BN 8 '?0 %
, s HARDWARE AND R~TRUSS, A '& W
3 5/8° X 22 GA, (38 SED UNDER END HINGES DN SO ‘2% 2,
R-TRUSS) GALV, STEEL BOTTOM AMD INTERMEDIATE DESIGN LOADS| &8 )
R-TRUSS ATTACHED W/ (b SECTIONS DMLY “+50.0 PSF = A -
174" % 3/4° HEX HEAD —62.0 PSE = -
SCREWS AT EACH END STILE : - <
U5 DTM AND INT SECTIONS | % =
TYPICAL, END HINGE [ iy
5/167 % 1 5/8° LAG LARGE MISSILE] ‘?:“OA\ ¢ 0}'#@'?
SCREW <[> PER IMPACT % D AN O
JAME BRACKET ' 27 PoGA, STRU RESISTANCE S8 6\§\\
i d PR R RSy
2 10 PALL STEEL RULLER JILiEL
URSOUL o TN SR Ao o A e e
MON THREADED SHAFT W/ BOLT RETAINER USED T K AGHED ar‘r
7* x 16 GA, ENDCAP ATTACHED FOR NOM THREADED SHAFTS W/3) 1747 X d/4°
WITH FASTENERS HSED FER HEX HEAD SCREWS _

ARDVARE AND R-TRUSS. 166 CARRIAGE COURT WINSTON-SALEM, HG. 27105 WWWANARR.CON
it A R COMMERCIAL MODEL 2400, 24001, 24008 (24 GA)
SECTIONS OMLY . ggggff%%hnlgg}% gODO.IS 20001, 20008 (20 G4A)

TYPICAL BOTTOM BRACKET 4 ’

NTS, ’ QE| ORAWIBY W] DATE a7/28/8 DRAMNG MUASER
B[ exeoxm gy sew| oAt o0r/29/8 IRC-2409-177-21-1
ERGZEER:  THOMAS L SHELWERDRE PE. LIG, Ko, DOKSTO] SHEET 1 OF 3

13 GA, (HIND GALY, EUHH-ERCI?L TOP ROLLER BRACKET

RESISTANCE

LARGE
MISSILE
IMPACT




TRACK CONNECTION DIRECTLY TO STRUCTURE OPTIONS

SIMPSON STRONG-TIE

ITW -BUILDEX 1/4°-14 12 GA. OR 376" 176" NOM X 1 LONG 1/4* LONG TACK 2000 PSI MIN, 2000 PSI MIN, SIHPSON STRONG-TIE

X 374 SELF-TAPPING STEEL (SEE BELOWD  FILLET WELD (E60xx WELD SAME SPACING  CONCRETE 348 WEDGE ALL CONCRETE 388 SLEEVE-ALL
SCREWS CTEKS? EXPANSION ANCHOR WITH \ EXPANSIEN ANCHOR WITH
ELECTRODES MIN) AS FILLET WELD N /8% WASHER. 1-3/4°MIN. . —_=7/8'% WASHER, 1-3/4°HIN,
T L k] EMBEDMENT AT L fawetn o] EMBEDNENT
H ..‘. |a‘_"_i . -".. o 3 4
! UORY e N et L
| ~ 2-5/8" THICK ] 2-5/8" THICK
WALL MIN, - WALL MIN,
ut] Q1,5 x EMBEDMENTS 15 x EMBEDMENT)
CLIP STYLE REVERSE ANGLE MOUNT SHOWH 3¢ MIN. EDGE 3¢ MIN. EDGE
BRACKET, CONTINUOUS AND TAPERED ANGLE : - '
MOUNT AVAILABLE BRACKET, CONTINUOUS AND DISTANGE DISTANCE
- TAPERED ANGLE MOUNY AVAILABLE CLIP. STYLE. CONFINUDUS ANGLE MOUNT. SHIWN
{2_GA, STEFL FRAMING BRACKET, REVERSE AND TAPERED ANGLE MOUNT LOHTIHUULS ANGLE MOUNT SHIMWH,
232 LBS./SCREW ALLOWABLE LOAD - 3* SYEEL FRAMING 12GA UR BETTER i BRACKET, CONTINUDUS AND TAPERED ANGLE
FROM ENDS AND 12° DG 1590 LBS./IN. ALLOWABLE LOAD — AVAILABLE MOUNT AVAILABLE

& FROM ENDS AND 247 O.C.

REFER TO NOTES: i, 2 AND S
REFER Til NOTES1 1, 8, S5, 6, 7, 8

£000 PST COMCRETE. DR _GREATER 2000 PSI CONCRETE DR GREATER
351 LBS./EXPANSION ANCHOR ALLOWABLE LDAD - 336 LBS./EXPANSION ANCHOR ALLOWABLE

DEOR HEIGHT

=

Y

—

VERTICAL, LIFT

3/16* STEEL FRAMING AND 9 &’ FROM ENDS AND 18° 0. LOAD - 6
e . - & FROM ENDS AND 16° 0.C,
?ggnngifgcfﬁlaﬁl?Lg.\éme LOAD ~ & REFER TO NOTES: 1, 2, 3, 4 AND 5 REFER TO NOTES: 1, 2, 3, 4 AND 5
REFER TO NOTES: 1, 2 AND 5
NOTES: . .
I NCHORS TO BE EVENLY SPACED BETWEEN THE HEADER AND
: {7, ST A0S SO LRI Tt s o
A - CE. HIGHES ] ing with the Florid
| INSTALLED AT LEAST AS HIGH AS THE DOIR DPENING. o : PRODUCT REVISED
3. MIN, EGDE DISTANCE DF 3* REQUIRED, ,
4, USE WASHERS PROVIDED BY THE ANCHOR MANUFAGTURER,
S. SUPPORTING STRUCTURAL ELEMENTS SHALL BE DESIGNED BY A
REGISTERED PROFESSIUNAL ENGINEER FOR WIND LDADS IN
I ADDITION T0 OTHER LOADS.
6, MUST GARAGE DOOR TRACK IS GALVANIZED STEEL. USE ALL
NECESSARY PRECAUTIONS WHEN WELDING GALVAMIZED STEEL.
7. ALL WELDS SHOULD BE PERFORMED BY A CERTIFIED WELDER
DR INSPECTED BY A CERTIFIED WELDING INSPECTOR T
VERIFY THE INTEGRITY UF THE WELD. REV | DESCRETION OF REVSONS e Jor
& FILLET WELDS TO HAVE A STRAIGHT OR CONVEX FACC & WroNTD To i 210 Wl | o
9. TACK WELD TOE OF ANGLE AT SAME SPACING TO PREVENT TS
ROTATION IF TRACK ANGLE. AR Sk, &N“ SHE] ,533,,‘
Y - L hes 7, {7
. HEIGHT 241" R e Stesn%,
) TABLE 1 : §§§"§,\GEN‘Q(~‘ .%%ﬁ 3
. IDOOR ' TRACK ATTAGHMENT SPLICE S No B0ASETE HVZ
BLICE TRACKS HEGHT| AT B CIT D[ E [FTGTH][ T[T K[ LIM[NJO[PJQIRIS[TIU[VIW S 1 e omsl B (T
¢4>-20 TRACK SPLICE 751" |22 |34 [46" |58 n +500 PSF | & $ o o
BOLTS & RTS §_ |35 |10 [22° 34" _|46" |87 [T 887 ~620 PSF | % WS
| 27 ¢033 MINY DR 3' (12 BA. 9 [3.5710" 22" [34" |46 68" 170" 82" | 100" e ST ;-‘Q;-’.'.?
HING VERTICAL, TRACK 035 (107 [227 |34 |d6"_[66°_[70" J65" {94 | Tz YA RS
3610 |22 |34 {d6" |66° [0 {82 [od" (105" 124" < & ‘-6.,0"8.\,?:*‘ Oy
12 [3.6°|407 |22 |34 {46™ |66 |70" |83% |84" [106°[118" 126" | |LARGE MISSILE @,ﬁsfdﬁh\’eﬁ@‘
E g 13 a6 30 22" o {a6° [56" [70° o2 o4 106" 115" [130" ki SIS TAN Menggnpni™
3 16|36 10" |22 3% |36 168" [70" |82 [84" 106" [118° |130° 142" 160" RESISTANCE _
£k g 3 15 _[36'[10° [22° 38 [46" [68° [70" [62° 04" [106° [118° [190° 142" (164" 7z
z i P 163510 [22° 38 |46"_[56" 70" [62° |g4" [106" 118" [130"[142" [164" [166° 184"
2 || & § 7 BE0 {22 [ad_[46" (66" [70" [B2" |94" [106°|118"|130" [142 164" [166" [178" 15" arr.
8 [3FF[10° [25" |34 [46" (66" |70" |62 [04" {106'[118" [130° [142" |164" 166" [178" [190"| 208° ‘
10350 |22 [0 |46 |68 |07 [82° [a4" |106° (116" |130° [142" |164" [166" [170" [100" |202 220"
0 3EHOY 257 |35 (46" [B8" 700 1827 [|9a" 106" 1118 1307|142 |164" |166" [178° | 190" E 914" 230" 168 CARRIAGE COURT WINSTDM-SALEM, HO. 27105 WWW.AMARRLOM
: L 21°_[36°[10" |22° 34" |46~ [68" [70" 82" j94" |106° |18 |130° 142" [154" | 166" 175|100 {202 214" (226" 245 O ey B0, Raonr Zanos gg gﬁ;
' 20 _|3.6°H0" [22° 34 [46° 56" |70~ [82° [94" [105° 115" 1307|147 (164" |166" |176° |190° [202" |214" 226" 230" 266" YLUSH SHD RIBBED RANELS
| 1 3350 [22° [a4 46" |58 [707 [B2 [o4" [106°[118" 130" 142 [164" |166° [176 [190° [202° | 214" 226" 238" |250° 766" T e il o T/ —
— 20|35 |10 |22 |3&_|46" |56 [70° |82 [B4" (1067 |116° [130" 142" [164° [166° [178° | 100" [202" [214" | 226" |238" |250° | 262" 780" ik IRARNG HIBER
AVALABLE TRACK CONFIGURATIONS N — 1 1 S O I D A A | | B[ cexmor su| o oynje IRC-2409-177-21-1
NS, ENCHEER:  THALAS L. SYELWERDAE PE. LK. Ho. 00WS7] ST 2 & 3




SPECIFICATIONS AND NQOTES.

- 1, ALL THE LOAD FROM THE DOOR IS TRANSFERRED TO THE VERTICAL TRACK,
FROM THE TRACK THE LOAD 1S TRANSFERRED TO THE VERTICAL JAMBS.

THE HORIZONTAL JAMB OR HEADER RECEIVES NO PORTION OF THE LOAD
TRANSFERRED FROM THE DOOR,

2. EACH VERTICAL JAMBS RECEIVES MAXIMUM DESIGN LOADS OF;: INTERIOR OF GARAGE
+229.1 LBS/FT & —284.1 LBS/FT MAX. WIDTH 92"

3. DOOR AND HARDWARE WILL BE DESIGNED, MANUFACTURED il *
AND INSTALLED WITH STANDARDS AS SET FORTH BY DASMA.

4, DOOR SECTIONS SHALL BE 24 GA. {1022) MIN., EXTERIOR SKIN

TRACK CONNECTION TO WOOD

FOR LAG SCREWS & BRACKET SPACING SEE TABLE 1

JAMB OPTIONS

ROLLED FORMED, W/ BAKFD ON POLYESTER FINISH DESICN LOADS IREEREEREEN
5. DOORS UP TO 240" HIGH USE (1) 3 5/8" R—TRUSS PER SECTION T LBsfFT SEE NOTE 2

AND (1) 2" 20GA STRUT ON BOTTOM SECTION

6. SUPPORTING STRUCTURAL ELEMENTS SHALL BE DESIGNED
BY A REGISTERED PROFESSIONAL ENGINEER FOR WIND LOADS
INDICATED ON THIS DRAWING N ADDITION TO OTHER LOADINGS.

8. THIS APPROVAL REQUIRES THE MANUFACTURER TO DO
TESTING OF ALL COILS USED TO FABRICATE DOOR PANELS
JUNDER THIS NOTICE OF ACCEPTANCE. A MINIMUM OF 2
SPECIMENS SHALL BE CUT FROM EACH COIL AND TENSILE
TESTED ACCORDING TO ASTM E—8 BY A DADE COUNTY
APPROVED LAB SELECTED AND PAID BY THE MANUFACTURER.
EVERY 3 MONTHS, 4 TIMES A YEAR, THE MANUFACTURER
SHALL MAIL TO THIS OFFICE: A COPY OF THE TEST REPORTS
WITH CONFIRMATION THAT THE SPECIMENS WERE SELECTED
FROM COILS AT THE MANUFACTURER PRODUCTION FACILITIES.
AND A NOTARIZED STATEMENT FROM THE MANUFACTURER

BRACKET MOUNT REVERSE ANGLE MCUNT
5/16* % 1 5/8° LAG SCREW () 2x6 WOOD JAMB SYP
PER JAMB BRACKET ¢t-1/2* (NO.2Y IR BETTER (TYP)
EMBEDMENT MINIMUMY <TYP. :

CONTINUOUS ANGLE MOUNT

THAT ONLY COILS WITH YIELD STRENGTH OF 34,600 PSI OR ' R viyie with the Florida  RODUCTREVISED,

MORE SHALL BE USED TO MAKE DOOR PANELS FOR DADE Enmnc"&m Nk Mg

COUNTY UNDER THIS NOTICE OF ACCEPTANCE. : Acceptence No [5-0817: 23 aeceptance No 10
Expirs lg.--’-' : E"Pﬂm‘ . 3

12 G Gy YETEN, MLt ATAOED To WOOD JAMB ATTACHMENT TO STRUCTURE (OPTIONAL) M s Peodict oot

BOLTS AND T TRACK W/ () 1/74*-20 x 5/8°
TRATK SPLICE EOLYS AND MUTS

T
b
5/16" X 3" LAG SCREWS STARTING 6" FROM ENDS THEN 20" 0.C. (1 1/2" EMBEDMENT) Y | DESRRTON GF REVGORS e Tar
2 X 6 VERTICAL JAMB AYTACHMENT TO 2,000 P3i CONCRETE
HILTI KWIK BOLT 3/8" X 4" STARTING 6" FROM ENDS THEN 24" 0.C. (2 1/2" EMBEDMENT) A { UPOATED 10 F50 2010 WA {RR
HILYI SLEEVE AMCHOR 3/8" X 2-3/4" STARTING 6" FROM ENDS THEN 18" 0.C. (1 1/4” EMBEDMENT)
SPLICE TRACKS AT THS LOCATION ¥/ fTW/RAMSET REDHEAD (TRU-BOLT) 3/8" X 4" STARTING 6" FROM ENDS THEN 24° O.C. (2 1/2" EMBEOMENT) ‘,ﬁ%ﬁzﬁw R RO LLALLLITTN .
174"-20 TRACK SPLICE BOLTS & — o \*‘ 9 Q.IHE!W ’#
SECUSE 101 JAHB WITH (3 5/16° Tk £_X.5 VERTICAL JAMB ATIACHMENT TO HOLLOW C-90 BLOCK n HEIGHT 241 ,u-ﬁu.
, U R SIMPSON 1/4” X 3 TITEN SCREWS STARTING 6° FROM ENDS, USE PAIRS OF FASTENERS (3" APART) S?‘o ACENGR 4)0
18" MAX <1 LAG HIDDLE GF VERTICAL ANGLE AN AT 8" 0.6, (1 1/2" EMBEDMENT) Q" A Ve £ %
) LAB Y0P @IF VERTICAL BHGLE, HILTI 1/4" X 2-3/4" KWIK-CON I+ SCREWS STARTING 6” FROM ENDS, USE PAIRS OF FASTENERS (3" APART) . ,@_o No ©048578 ..ﬂ-\;':/
— AT & 0.C. (1 1/4" EMBEDMENT) DESIGN_LOADS] L v
2.X_6_VERIICAL JAMB ATIACHMENT TO GROUIED C-80 BLOCK (2000 PS| GROUT) +50.0 PSF | 3 ¥ i 3
. (0 /16" DIA. x 1-5/8° HILTI SLEEVE ANCHOR 3/8" X 2-3/4" STARTING 6" FROM ENDS THEN 22° 0., (1 1/4” EMSEDMENT) ~82.0 PSF | 8. 1/\.:15’:?
LAG BOLT ATTATHED TU JAMB (OR, USE FASTENERS FOR HOLLOW C—90 BLOCK) : % Tl
AT EA JAMB ERACKET -
% SS
+LAGS AND BOLTS CAN BE COUNTERSUNK TO PROVIDE A FLUSH MOUNTING SURFACE. 0, TS
S TN *PREPARATION OF WOOD JAMBS BY OTHERS % QL ORINNSE
AITACHED W/ (1) 1/4°-20 x 5/8' : LARGE MISSILE S tiedeastey \
J" e N
TRACK SPLICE BOLT B MUT ) IMPACT (7% / ONAL S
i WOOD - CONCRETE HOLLOW BLOCK GROUTED BLOCK RESISTANCE PP AT
STRUCTURE STRUCTURE STRUCTURE STRUCTURE )
TRACK ATTACHHLNT CAN EE BRACKET - -
HWHT CONTIRUOUS, REVERSE ANGLE
HOUAT. Coth AVRTLARCE TRACE -
COUFIGURATIONS) i Q A <[ 1 | ar]"
- ALL TRACK BRACKETS AND TRACK T I_.-J
12*TYP TLIPS ASZ ATTACHED YO TRACK :
VITH EQ)NI}}_EVE‘IS BR (D 1/4'-20 - | 165 CARRIAGE COURT WINSTUH-SALEH, NG. B7I05 WWWAMARRLCOM
6k~ i A | — COMMERCIAL MODEL 2400, 24001, 2400S 524 GAg
1727 MIN 2-3/4* MIN 1~172" MIN . COMMERCIAL MODEL 2000, 20001, 20008 (20 GA
Qél__. %‘;&F* TO FOLLOW SPACING AS . %G JAMB - FLUSH AND RIBBED PANELS
TYP, SE| DRAMIBY  SKW| DATE 07/2/@ DRAWAG MABER

TRACK CONFIGURATION FOR UP TO 24’ TALL DOORS

B I oxcxmoy sov] o 07729708 IRC~2403-177-21-1
EREER:  THOMAS L. SYEINERDNE PE 1K o, 0048578 SKEET 3 OF 3




